S g @ CCC( C\{}, multiplication de fractions ( fraction appropriée ) (
R fraction impropre )

Nom: Date: Note:
6 3 2 7
— X — = — X — =
5 6 6 9
2 2 1 2
— X — = — X — =
6 5 8 4
6 7 5 6
— X — = —_ X - =
5 5 6 8
1 3 5 5
—_ X = = — X = =
9 2 7 6
1 4 7T 7
— X — = —_ X — =
5 5 3 5
2 1 7 7
— X — = — X — =
3 9 2 8
1 6 5 5
— X — = — X — =
3 9 3 7
7 5 77
— X — = — X — =
4 7 6 2
6 7 1 4
— X — = — X — =
9 9 6 7
1 4 5 5
— X — = — X — =
8 9 3 9
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Q °«m = ‘ multiplication de fractions ( fraction appropriée ) (
(SD @ o / fraction impropre )

Nom: Date: Note:
6 3 3 2 7 7

— X — = — - X - = —

5 6 5 6 9 27

2 2 2 1 2 1

— X - = — - X - = —

6 5 15 8 4 16

6 7 _ 4 17 5.6_5

5°5 25 25 6 8 8
1 3 1 5 5 25

— X — = — X - = —

9 2 6 7 6 42
1 4 4 7 7 49

- X = = — _x_:_:3_
5 5 25 3 5 15 15
2 1 2 7 7 49 1
- X — = _x_:_:3_
3 9 27 2 8 16 16
1 6 2 5 5 25 4
- X — = — _X_:_:l_
3 9 9 3 7 21 21
7 5 5 1 7 7 49 1
_X_:_:l_ _x_:_:4_
4 7 4 4 6 2 12 12
6 7 14 1 4 2

- X — = — - X - = —

9 9 27 6 7 21

1 4 1 5 5 25

- X - = — - X - = —

8 9 18 3 9 27
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